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2.5 Some More Applications
Example 14:°
Solution: 1al
jaidy
Tig
Remember, this is the solution
to be 3 more than the unit’s
. the tens digit to be (5 3)
' The statement of the:
_ example is valid for botln |
s ® are correct answer.

The Janunu and Kashmar State Board of Education
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Example 11: There are chairs in the room. If 2 guests share a chair, one chair remains vacant

and if each guest sits on a chair one guest remains standing. What is the number of guests?
'Example 12: There are birds on two trees. If a bird flew from first to second tree then there are

equal number of birds in each tree. However .if a bird flew from second to first tree than the birds

on first tree are double than the birds on second tree. How many birds are on each tree?
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